OooddIigdoogd 20130 60 50
00000 O

(5+5=100)

000000 Asin(z+a)000000

(1-1) sinz + cosz = V2 sin <a: + %)

(1-2) 3sinz + V3 cosz = 2¢/3sin (x + %)

(3+3+4=100)

OOoooboobooooooogn lim

z—0 I

WY _ 1 goooooo

sin 2x 2
2-1) Ui = —
(2-1) lim— = =7

in 4
(2-2) limo "
z—0 SInx

. 1 —coszx 1
(23) Im—5—=5%

(5+5=100)

b -s00000000000000

(3-1) logs(z —3) + logs(z +1) =1

(z—3)(x+1)=5
r=-24
r>3000x =4.

(3-2) 47 — 27 =56

y=2°00000y?—y = 56.
y:_778
y>0000y=8.

r = 3.



(3+3+4=100)

000000000
2

(4-1) 95 x 875 = z
4

(4-2) log,,0.01 = —2

7
(4-3) log, 7 — log, 56 = log,

— —=_3
56

(3+3+4=100)

a=1+43i,=2-i0000000000z+iy, (»,y000)00000000
(5-1) a+ 8 =3+2i

(5-2) af=5+5i

«Q 1 7
5-3) = = —= + i
( )5 Ft il

(3+3+4=100)

000000000000000
(6-1) [3+4i|=5
(6-2) | —2i| =2

(6-3) | —1—2i| =5

(3+3+4=100)

00000D000000000
(7-1) 1+i= /27
(7-2) 1—+/3i=2¢715

(7-3) —v/6 4 v/2i = 2/2¢%67



(00 8] (100)

a:eiﬂ/i”,ﬁ:eiﬂ/‘*DDDma/ﬁmDDDDDDDDDDCOS%DDDsm%DDDDDDDD

T ... i i(z_z)
COS — +1siln — = ¢'12 = e \3 ™ 4
12 12
s a ;4—‘/751
61% ﬁ 754-%51
1 1+Ei
V2 1+i
1 (1 +VB)( -

V2 (141 —i)
(V34+1)+i(v/3-1)

2v/2
_ (V6+v2) +i(v6 - v2)
4
(1)
2 )
DDDDDDDDDDDCOS%:@,QH%:%DDDD

00 9] (5+5=100)
(9-1) |@| =2, b|=3,a-b=—-10000(3a—2b)-(2a—b) 000000

-

(3@ — 2b) - (2@ — b) = 6|a|? + 2[b]2 — 7
(9-2) (3@ —2b) x (2@ —b)=adx b0

b =49,
ooog

ST

|

-

(33— 2b) X (20— b) =6 X T —4bxT—3Axb+20xb=0+4Txb—3@xb+0=a x b.

(3+3+4=100 )

3000000&b0000000a=(1,2,-1),b=(-2,1,2)000000000000
(10-1) 00 @-b000000

i-b=—-242-2=-2

(10-2) 0000 @ 00000 A00O0O000cosA0DOOOOO0O

|5|:\/67 |b|=3DDDcos9:—:—\/_

3v6 9
(10-3) DD axb000000

Axb=(4+1,2—21+4)=(50,5).



